
 

 

Answer on Question #47132 – Math - Calculus 

 Trace the following curves 

 1) y square equal To (x-1)(x+1)(x-3) 

 2) y square (x-a) equal to x square (x+a); a is greater than 0 

 

Solution. 

1) 𝒚𝟐 = (𝒙 − 𝟏)(𝒙 + 𝟏)(𝒙 − 𝟑) 

- 𝒙 − 𝐢𝐧𝐭𝐞𝐫𝐜𝐞𝐩𝐭𝐬: 𝒚 = 𝟎 → (𝒙 − 𝟏)(𝒙 + 𝟏)(𝒙 − 𝟑) = 𝟎 →  𝒙 = −𝟏,

𝒙 = 𝟏, 𝒙 = 𝟑. 

- 𝒚 − 𝐢𝐧𝐭𝐞𝐫𝐜𝐞𝐩𝐭𝐬: 𝒙 = 𝟎 → 𝒚𝟐 = 𝟑 →   𝒚 = −√𝟑, 𝒚 = √𝟑 .  

- the exponent of 𝒚 is always even in the equation of the curve then the 

𝒙-axis is an axis of symmetry for the curve. 

- 𝒚𝟐 ≥ 𝟎, 𝒔𝒐 (𝒙 − 𝟏)(𝒙 + 𝟏)(𝒙 − 𝟑) ≥ 𝟎 →  −𝟏 ≤ 𝒙 ≤ 𝟏  𝒐𝒓  𝒙 ≥ 𝟑. 

- when  𝒙 → ∞, 𝒚 𝐛𝐞𝐡𝐚𝐯𝐞𝐬 𝐚𝐬  ± 𝒙
𝟑

𝟐 . 

 

 
 

 



 

 

 

2) 𝒚𝟐(𝒙 − 𝒂) = 𝒙𝟐(𝒙 + 𝒂), 𝒂 > 𝟎 

- 𝒙 − 𝐢𝐧𝐭𝐞𝐫𝐜𝐞𝐩𝐭𝐬: 𝒚 = 𝟎 → 𝒙𝟐(𝒙 + 𝒂) = 𝟎 →  𝒙 = −𝒂, 𝒙 = 𝟎. 

- 𝒚 − 𝐢𝐧𝐭𝐞𝐫𝐜𝐞𝐩𝐭𝐬: 𝒙 = 𝟎 →   𝒚 = 𝟎.  

- the exponent of 𝒚 is always even in the equation of the curve then the 

𝒙-axis is an axis of symmetry for the curve. 

- vertical asymptote  𝒙 = 𝒂. 

- 𝒚𝟐 ≥ 𝟎, 𝒔𝒐 
𝒙+𝒂

𝒙−𝒂
≥ 𝟎 →  𝒙 > 𝒂 𝒐𝒓  𝒙 ≤ −𝒂. 

- when  𝒙 → ∞, 𝒚 𝐛𝐞𝐡𝐚𝐯𝐞𝐬 𝐚𝐬  ± 𝒙 . 
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